JDSF DanceSport Grand Prix in Fukuoka 2011 2011/04/10
The Result of Standard Final

Solo Dance(Tango)

TES PCS(Original) Deduction Decision Total
1 2 3
[PB] [aml MM] [cP] Loss of |Dancing|. | L.ong Dress .
Posture, Quality of Movement to [Ps] | Ghoreography Balance Fall Delayed| E'avrly connect| out of DISC?ntI Error .tlme‘ pordl TES PCS Deducti Tgtal
Balance, Movement music Partnering Skill || 40 o tation| 1058 start | finish . i nuation Disconti| Violatio on points
No [Judge Base Value Base Value Base Value Coordination fon ime nuance n
A 6.60 7.15 7.15 5.50 550 0 0 0 0 0 0 0 0 0 0
B . . n 6.05 7.15 7.15 6.00 55| 0 0 0 0 0 0 0 0 0 0
Rl N L 1 T O SR
18 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0] : : : : :
E IWF=0JINV=0] | [WF=0]INV=0] | [WF=0]NV=0] 6.05 7.80 7.80 5.50 55| 0 0 0 0 0 0 0 0 0 0 | 1500 [ 3014 | 000 | 4514
F [FPE=0] [FPE=0] [FPE=0] 5.50 7.15 7.15 5.00 500 o0 0 0 0 0 0 0 0 0 0
G 4.95 6.50 6.50 4.50 45| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 5.00 5.83 | 6.89 | 7.02 ] 5.20 | 520] 0 [ o [ o [ o [ o o ] o T o1 o o
A 6.60 7.80 7.80 6.00 550 0 0 0 0 0 0 0 0 0 0
B 5 5 . 6.05 7.15 7.15 6.00 600 o0 0 0 0 0 0 0 0 0 0
c 4.40 455 5.85 3.50 500 o0 0 0 0 0 0 0 0 0 0
[BV=5][GD=0] | [BV=5][GD=0] | [BV=5][GD=0]
9 [P [WS=0J[HPE=0] | [WS=0l[HPE=0] | (WS=—1IiHPE=0] 6.05 5.85 6.50 6.00 600 o0 0 0 0 0 0 0 0 0 0
E IWF=0JINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 5.50 7.15 7.15 5.00 500 o0 0 0 0 0 0 0 0 0 o | 1400 | 3051 | 000 | 4451
F [FPE=0] [FPE=0] [FPE=0] 6.05 7.15 7.15 5.50 55| 0 0 0 0 0 0 0 0 0 0
G 5.50 6.50 7.15 5.00 500 o0 0 0 0 0 0 0 0 0 0
IS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 4.00 5.83 | 6.76 | 7.02 ] 5.50 | 5.40 0 T o T o[ o T o T oT oT oTT o T T o
A 6.05 7.80 7.80 6.00 550 0 0 0 0 0 0 0 0 0 0
B 5.50 7.80 7.15 5.50 550| 0 0 0 0 0 0 0 0 0 0
c L3 2 3 6.60 7.15 7.80 5.50 600| 0 0 0 0 0 0 0 0 0 0
D [BV=5][GD=0] | [BV=5](GD=0] | [BV=5][GD=0] 550 715 7.15 6.00 600| 0 0 0 0 0 0 0 0 0 0
116 [Ws=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E TWF=0JINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 6.60 7.15 7.15 6.00 550| 0 0 0 0 0 0 [} 0 0 0 | 1500 [3271 | 000 | 47.71
F [FPE=0] [FPE=0] [FPE=0] 6.05 7.80 7.15 5.50 600 o0 0 0 0 0 0 0 0 0 0
G 6.60 8.45 7.80 6.00 600 o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 5.00 6.16 [ 7.54 | 7417 5.80 | 5.80 0 T o T ol oT oT oTlT oTlT oT o T o
A 5.50 6.50 6.50 450 250 0 0 0 0 0 0 0 0 0 0
B 5 5 . 6.05 7.15 7.15 6.00 55| 0 0 0 0 0 0 0 0 0 0
c 4.95 5.20 5.20 4.00 400 o0 0 0 0 0 0 0 0 0 0
D [Bv=5](GD=0] | [BV=5][GD=0] | [BV=5](GD=0] 6.05 6.50 7.15 5.50 55| 0 0 0 0 0 0 0 0 0 0
147 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=-1][HPE=0]
E IWF=0JINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 6.05 7.15 6.50 5.50 500 o0 0 0 0 0 0 0 0 0 0 | 1400 | 2828 | 000 | 4228
F [FPE=0] [FPE=0] [FPE=0] 5.50 6.50 5.85 5.00 45| 0 0 0 0 0 0 0 0 0 0
G 4.95 5.85 5.85 4.50 450 0 0 0 0 0 0 0 0 0 0
IS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 4.00 561 | 6.50 | 6.37 | 500 [ 480 0 [ 0 [ 0 [ o0 [ 0o T o T o T o T o T o
A 5.50 7.15 7.15 5.00 550 0 0 0 0 0 0 0 0 0 0
B 6.05 7.15 7.80 6.50 600 o0 0 0 0 0 0 0 0 0 0
£ [Bv-s]s[GD-o] [BV-S]S[GD-O] [Bv-s]s[GD-ol 440 a5 520 200 4001 0 g g g g g g g g g
) IWS<oliHPE=all | WssollhPESo] ||| [We=oiiPE=o] 4.40 6.50 6.50 5.00 550| 0 0 0 0 0 0 0 0 0 0
E TWF=OIINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 5.50 6.50 7.15 5.00 550| 0 0 0 0 0 0 0 0 0 0 | 1500 [ 3000 [ 000 | 4500
F [FPE=0] [FPE=0] [FPE=0] 5.50 7.15 6.50 5.00 55| 0 0 0 0 0 0 0 0 0 0
G 6.60 7.80 8.45 5.50 600 o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 5.00 539 [ 6.89 | 7.02 | 510 | 5.60 0 T oJT ol oT oT oTlT oTlT oT oT o0
A 6.05 7.15 7.15 5.50 600 O 0 0 0 0 0 0 0 0 0
B 6.05 7.80 7.15 6.00 600 © 0 0 0 0 0 0 0 0 0
c - - & 550 6.50 7.80 5.50 500| 0 0 0 0 0 0 0 0 0 0
D [Bv=5](GD=0] | [BV=5][GD=0] | [BV=5][GD=0] 6.05 6.50 6.50 6.00 600| o© 0 0 0 0 0 0 0 0 0
231 [Ws=0][HPE=0] | [WS=0][HPE=0] | [WS=-1][HPE=0]
E TWF=0IINV=0] | [WF=0JINv=0] | [WF=0]INV=0] 6.60 7.80 7.80 6.00 55| 0 0 0 0 0 0 0 0 0 0 | 1400 [ 3199 | 000 | 4599
F [FPE=0] [FPE=0] [FPE=0] 6.60 7.80 7.15 6.00 55| 0 0 0 0 0 0 0 0 0 0
G 6.05 6.50 7.15 5.50 500 o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 4.00 6.16 | 7.15] 7.28 | 5.80 | 560] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o

11



